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Section A (26 x 2 marks = 50 mz [&\53 A5

For each question from * to 205 four opt'onb are given One

correct an-wer. Make your choica (i, £, 3 or 4). Shaite the co
3 or 4) on the Optical Answer Shest provided. '

1. tudy the diagram helow.
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Four cubes P, Q, R and S, are dropped st a contzine
st o the sn 3‘1.01:

* Arrange the cubes according to mass from the bigges!

(H P,5 R.Q {2) Q,
(3) PAQRS 743 S,

of tham is the
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The table below shows the properties of A, B and ¢,

i Propez‘ties R
5 Sge dalinis volume ' Has ds‘fl_g_{,tf‘_m !
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Which ong of the following s xamp?oq best represents A, B and C%

0 B &
(1 wood
) porcelain Syr up
(3) ot | woog o
(4} | alcohal | water vapour |

The giagram below shows two containers A and B,
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ents 16 falge’? '
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volie of the ‘watnr i B is thes enme as in A
srlevel in B s different from the level in A,

- 1\ 235 of the water has changed in container B.
hane of the water has changed in container B,
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4. The diagram below shows four identicat containarg A, &, C and O flled
with the same amount of waler.

A
L e

Which container shows the curragt waier jeval?

1) A {2) B
(3) C &) 0
3 Waich of the follawing processes inveive a [0ss of haat from wate?
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boiing
freezing
evaporation
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R oaad S Mo then left them in the open field for a Jay. Study t.‘«
izh! e velow »vnu shows the amount of water leff in the four containers
2t the and of the dav.

Petar poursd 100 ! of water into each of the four loem sal containers
=
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[Copianer | Amaunt of water faff at 'P\e]
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Wihat can we infer from the results aboye?
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The water in Py vaporates the fastest’
B The waler in O and S evaporate at the same rafe,
o ~-"ha rate o eva},,oraumo water in Ris fess than that in P,
D The rate of evaporafion of water in P iz less than that in S,
{H Aang Bory 23 Aand G only
& 2 and O only {43 B ang D ony
halow shows tha ‘vatm oyeie.
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Which two pracesses in the water cyole ensire & continuous supply of
water? .

(1) boilinnrand meling

(2) evaporalion and freezing

3) condenzation and maiing

(4) condensation and evaporalion
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g, . Which one of f-:lB_fDHLr\l\".s‘.g IS an examols af how We san consanve ol
foresis? : '

(1 Recycele metal cans.

(2) Cut down mote trees,

(3) Usa moie piastic food containers,

(4) Racyela old newspapers and magazines,
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0. Whatis the approximate volume of axvgen in 10 emof a

2 ’ S AN Is

(1) 10 orn” (2) §

(3) 80 em’ (4>

11 Which one of the following diagraems snows fow he dissaved xyoan

T 1 P . . " - D ]

in the water entars the Hsh? :
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" shows %h'\ corract change i the amaunt ©F oxygen insi
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Which gne nf the following actions of the rihs ang ¢ p‘wrmm CHusa
your Chest e expand?

| Ribs - Diaphragm
(Y | move o and LpWards moves downwards
£23 ; move oui and upwards '_move; Upwands
{33 Lmove inand upwards moves downwartis
@y [move ool and inwards MOoVEs upwards

When we Drzathe in hrouph the nose, e ol iy . before it
enlers OUr Wnas.

A e

3 rieaner

. wermed

{2 moistened

i A ang C only (23 Band G ?‘?T\‘l\;’

{3) A, B and D oonly ) 8, O and Dony

§a watar viant ingide o tank, Which one of the rafiowing granhs

{de the 30k

during the maht from 7 pm 10 5 am tha next mormning?
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Dolphins and whales have blowholes ¢n the top of
are the functions of the blowhoie ?

5. What

To take in oxvgen fram the ait

M >

To take in dissoivad oxyoen in the waler
To gatrid of water that has giitered the blownoles o

(1) A and B only ' (2} . Aand Conly
(3) B angd C only } ABandComy

Which of the following make up the cirouiatory sysem?

b

A heart
5 biood

(1) A, Bard Gonly (2 A, Band Do ‘y
(3) B, Ceand Donly g O, 2 ana & ony

The circulatory systems of r\b e and tumans are somifar The
circuiatory system of a plantconsigisof - hat pas ¢ginas
functions asthe v the puman body.

{1y . veins, bones v food, energy
(3) tubes, bload vessais (45 water, bioad

18, \Which of the 'i"ﬁ{w\-virw lasonbe corractly the functiang of both the
red and white ble 5
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9.

L

Siudgy the oross-section of the hwo blood vesss

Winch ong of fhe following statements is most iikely to be true?
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Biced vessel A ) Rioed vasupl B

E?t‘"d “"-’:‘S\ sl B s directly connected to the heart.
aete absorbed m bicad vessel B
gter in piood vesssat A than in blood vessel B,
onnects blood vessal A to tha tower parte of the bady.

Bimd ira\.‘efg
Rinod vesse! T

N

ora of tha inflo wmq statements bast describes the phivem?
e rogpligiory system ﬁr & L
EHansports minaral salie to all parts p

ttranghors food made N the leaves ’ oth Sro ;,.i“'i'.S of a ptant.

toan be fourd in the leaves, stern, flowars but not the roots of a olar,
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21, Tha graph below shows Rahul's neartbeat frem 8.50 pm 10 550 pm,
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Which one of the following activitieswas Rahut kel to camry eut?
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After streking each of the feilowing nads witin & magnel, which ong wii
-~ rastin the N-S position when suspendet figely !

(1) copparns!! (2)  =weinal
(3) aluminium nail (4% piasto nad
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vvan the nails fxed in position, Simon stroked 4 different nails .
accarding lo the direction of the arrows. Ynich nall will be magnelizeds
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24. Susan conductad an e\vamént by doping
horizontally into a box of nats.
wn dDelow

as siho

She labelied
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{~e magnets

. of natls ar

| | No.ofnailsat | No.of nails at L Na

| ; Point A ! Point i Point G
| Magnet X ¢ 16 5 i 17

it Magnel Y | 8 2 E g
A - , p : -

L idagnet £ | 12 ? 5 | 'z

A
R
G
D

0
(3)

agnet Vs the weakes

mMagnet 2. is sirencs!
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All l-nt:}gmmf 1_((3 SI"-"

Aand C only
B and C only

All magnes are strong




Study the diagram below.

-~ plastic
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\7 bar magriet
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he above setup shows that the attraclicr of 2 mag
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Section B [30 marks)

Write your answers to questions 26 to 36 (0 the spaces picvidad

Marks will ba deducted tor m%m‘t key words.

NG

Classify ail the items
Write your answers in the boxes below.
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i Sharsams helow.

N \\.~ T
VY wAnte Htud

e = ) 1V WADSY

T smed bubtloes oo
-~ e § T BORING Water

[ - b ol
Sxtup A
John & bepker containing 100 mi o water Satup AL He
fieating the water uniil it started o o Setup B,

|".‘|?“

4 - N
on contnued

How does Johin know that the water is boliing in Setup B2 (1 matk)

@)

WONISINSUNINGY

D) What does the white ‘cloud® in Setup B cortain? {1 mark)

tinay the white 'cloud’ is formes
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28.  Look at the diagram below which shaws an eniasged partof a ioat

(a) WHD‘L are the tiny openings lebeiien A calfed? {1 oman

(b)  State one function of the partlabelled A, L nETE)

na
&

State two dir";"erencss L/ei kcy “w meocass of raspiration and

N g e
COTRTKE)




30 The diagram beiow shows a mouse inside a glass containar that

S
cotaipad od and water. sars A and B contained {he same amaunt of

Ima waier.
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food and water

(&) Mwss cbeerved that tha imewater in Jar A becarme slightiv
coatky after samie tmea, Would the irewater in Jar B becom
ﬂ

rmave or less chalky than in Jar A? (1m

(b)  Explam your answer in (a). ' (1 rman

() Ay was fimewater used in this experiment?




31.

The diagram below shows the path taken by blood in e bady

(b)

(<)

e A s
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other par'_tls of | !
tha boty

$ f : el B ! NI 2SR oo« T raS
State ore diffrrence betwaen the piooo ficwng in Band in &
SRR
. 5%
:

Expiain your answer in (&) 2 rmark)

Wrich two organs da X and Y represent? {* myarhg



2d water as shown in 1
ans and leave
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Ali and Samy waruod to rind out who was fitter Aller ziipping
th ser

1/
times for 5 minutes each, they recorded thelr averaga nesnbeal
minute as shown be!ow.

(@) - Name'twe cther variablias s that mus! be kept constantin order for
he test to be a tair cne, , B (7 maks)

() Who do you think s filter? (T mark)

(¢) . Explain your anzwearin (b). - oo i merk)




34,0 Stashy the diagram helow.

| patlBy t:twww—t steel rod
L —! l . //
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papzr clip

ted an experiment vsing the setup shown above, Ha
the expanment using different number of halteriss

For each sefup, he recorded the number of paper ¢iips attrariad to
the steet rod. iHe then recorded his findings in the table shown
helow
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i Numbor of batteries g § 3 ‘! |
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Numbter of hatteries
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Alwas toid that magnetic rorce can p 85 "i‘ rouch ceqain
wented to do a smpm demenstation t
e laid @ piea
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Saly was given @ bar magnet and a rod magnst She placed the bar
magnet at ons end o‘{ the ruler and slowiy p: :hsd the paper clip towards
| - i ned the Dl ety wWith Lne

cer Cip was attracted She reps

oo 5 e
oy =
A ‘ . /1

[ conm =
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30) a) She measured the distance
where the paper cliyp
1

waotld be atsracrtad Irowm
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NANYANG PRIMARY SCHOOL ("W the magne By
P THARY 4 SCIENCE b) The zcan pur the two magne LS

_,‘ 4o ) ~ o oy & = ~ s ~
COND CONTINUAL ASSESSMENT 2004 bare a pile oI pspevelire,
the magnry with more D=y
wlips is the stronger
1) 1 26) a) Nitrogen _ Coina
C -
, Stean
2) 2 ,
Orange Jeice
3) 3
b)Y Group X do nuar have a definite
&) 3 - group Y has & definite shape.
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b)) Ir contail
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aiv from the su uwi.nq:,
. and [ormed water drorplet
Q) 4 white 'cloud!

c) When the hot wakter vapour
e rro

10) 2 Z8) a) They are called stowmain,

11) 1 ) It helps to exchange the gzsss liks cxvgesn
. and carbon dicxide.

1

12) 1 \ 29) i) In the procéss of ressirati

'
[»]
b

T
VS
T
fov
N
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on
in and carbon ﬂl@&lut ig given ouv gnd

13) & photosynthesis is taking tlacs, plants give
et axygeon and tua in carton cioxide,

ii) Iun the procegz of photosynthead

15) 2 nakes foold while in the process
- respir:.tion, it does not. :

16) 2 30) a)The limevater in Jar ® would be wmore éhglky,

b2

The air that vasses
Tar B contains more

bloed £lowing in B is vich
he blgod flowing in O is rick
dioxxde

ok
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~
s
]
Yowd
g
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N
T
r
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et
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b}JBlu od in B absorb oxynen trowm
20) 3 Blood in $ contains dissolved
from otheyr parts of the Dody 1
pack to the heart.,
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2y = 3Ty &) g%) Y yhiloem
L) 2 -
32) a) The leazth © the skidpring rop2 and the dirocc
23) 1 directs Lty
2, 2amy
2(:‘ X 1 3 3T A ¥t i g oat T, -
c) Afrer I00 fiwes of gkipping, &£13's heaviobeat
95y rate was fasver than Sauv,
Py 3 N
34) a® - b)Y The more havierd
L~
w4 o tie stroaﬁer
. - : =\ -
. \ p pm Ty () > r will have,
35) ﬁ/(Lv“___J3 stwf» B v e
R e ) Steel is a

b) Iron fillings =~ * %9 electricity



